
ITEM NO. PART NUMBER DESCRIPTION CLS3/QTY.

1 M5WPZ M5 PLANE WASHER BZP 4

2 M6X37-ADJ M6x37 THREADED ADJUSTER 1

3 BHS8X5X14
TRANSFER LEAVER BUSHES/CLS1 

LINKAGE KIT BUSH
2

4 LF36 LINKAGE QUADRANT 1

5 M5X25CZ  CAP SCREW M5x25 CZ 1

6 M5WDZX12.7 M5x12.7 WASHER BZP 1

7 LJ5B LINKAGE BALL JOINT 2

8 LM02 HERITAGE LINKAGE MAINFRAME 1

9 M5X1000 M5x80 ALLTHREAD BZP 1

10 M5NZ  M5 NYLOC NUT 4

11 BG0806FDU Ø8xØ10x5.5 FLANGED BEARING 2

12 M5LZ M5 LOCK NUT 2

13 M5X30HZ HEX HEAD BZP 2

14 M35-11MOD M35-11 CUTDOWN 1

15 SG22
SPRING, LINKAGE KIT - LOOSE 

HOOK
1

16 C15 THROTTLE CABLE 1.5 METERS 1

17 M5X25SS
M5X25 STAINLESS STEEL SLOTTED 

SCREW
2

18 M5WSS
M4 STAINLESS STEEL SPLIT 

WASHER
2

15

3

14
2

12

9

13

10

4

*

7
5

6

11

8

1

16

17

18

1 of 1 

5

CLS3_ASSY -  HERITAGE SINGLE LINKAGE

Frame:

Web WWW.JENVEY.CO.UK

Version:

© JENVEY DYNAMICS LTD. 2015Tel 01746 768810 

Engineered to win

MINIMUM DISTANCE BETWEEN BODIES 

WITH LINKAGE INSTALLED IS 101mm

DISTANCE BETWEEN 
M5 LOCKNUTS 57mm  


